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Question Number : 1 Question Id : 92862710370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following processes is milk heated to the highest level ?

Options :
02862740721, 1 nermization
HTST pasteurization
92862740722.
UHT processing
92862740723.
92862740724, In-bottle sterilization

Question Number : 1 Question Id : 92862710370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

THTZ ST

92862740721.



i Bca eE: ioa N £ EA TR
92862740722.

IO, TR
92862740723.

CIGERCEEIETaR ]

92862740724.

Question Number : 2 Question Id : 92862710371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is added to fruits before freezing commercially to protect quality.

Options :

02862740725, Vitamin E

9286274076 Ascorbic acid

92862740727. Water

Sugar
92862740728,

Question Number : 2 Question Id : 92862710371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
92862740725.
=~ u e
UEh e UTHE
92862740726.
92862740727.
ST
92862740728.

Question Number : 3 Question Id : 92862710372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To prevent 'sandy’ defect in sweetened condensed milk, the size of majority of the lactose
crystals must be less than

Options :

0-10 pm
92862740729.

10 pm
92862740730.



1-0 pm
92862740731,

0-001 ym
92862740732.

Question Number : 3 Question Id : 92862710372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

0-10 um
92862740729.

10 um
92862740730.

1-0 ym
92862740731.

0-001 um
92862740732.

Question Number : 4 Question Id : 92862710373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is the primary purpose of blanching food ?
Options :

02862740733, 1© clean the food

To prevent pest infestation
92862740734.

To inactivate enzymes in food
92862740735.

To prevent food from drying
92862740736,

Question Number : 4 Question Id : 92862710373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSI T (A UTRL0T il il TTATHE I2¢T FAT 3 ?

Options :
a .
ATSTT &l T=g, FATH]
92862740733.
i ol TIEHATH el
92862740734.

ATSIT | TSI 1 ffemeT T

92862740735.
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92862740736.

Question Number : 5 Question Id : 92862710374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Substances contributing to the taste of any food product must be

Options :

02862740737, Onstable in nature

02862740733, >cluble in nature
Liquid in nature

92862740739.

02862740740, Volatile in nature

Question Number : 5 Question Id : 92862710374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

SATEIT T

92862740737.



AT Tl

092862740738.

T T h
92862740739.

ATCTL T T 0
092862740740.

Question Number : 6 Question Id : 92862710375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is nottrue about UHT processing followed by aseptic packaging ?

Options :
92862740741 Enhancement of shelf life
Inferior organoleptic properties as compared to conventional sterilization
92862740742.
Process independent of packaging size
92862740743.
Product can be stored at ambient temperature
92862740744,

Question Number : 6 Question Id : 92862710375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

e g ¥ 15

92862740741.

TervTe AR Y e 7 e s o

92862740742.

Teh ST ATRTE o T TiohaT

92862740743.

3TATE ol AT ATTHT T AU TG (96T ST JohdT 8
92862740744.

Question Number : 7 Question Id : 92862710376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The amount of buffalo milk required to produce one kg of Pindi variety of khoa is

Options :

4-5kg
92862740745.

2 -3 kg
92862740746.



9 - 10 kg
92862740747.

7-8kg
92862740748.

Question Number : 7 Question Id : 92862710376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

4 — 5 =T
92862740745.

2 — 3 =T
92862740746.

9 — 10 &
92862740747.

7 — 8 =T
92862740748.

Question Number : 8 Question Id : 92862710377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following antimicrobial substance is nof naturally present in milk ?

Options :

92862740749, IS

92862740750. Ladloferrin
Lysozyme

92862740751.
Lactoperoxydase

92862740752.

Question Number : 8 Question Id : 92862710377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
92862740749.
- g i A
EECARAET
92862740750.
%,
“lgdivicsH

92862740751.
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92862740752.

Question Number : 9 Question Id : 92862710378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who invented the cream separator ?

Options :
Nicholas Appert
92862740753
92862740754, 2l Borden
George H. Page
92862740755
92862740756, custaf de Laval

Question Number : 9 Question Id : 92862710378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I TILET ol AT Teher T 9T ?

Options :

e e 9Te

92862740753.



T e

92862740754.
u e 5
SIS U, U
92862740755.
AT € AT9
92862740756.

Question Number : 10 Question Id : 92862710379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the chemical name of good cholesterol ?
Options :
Low Density Lipoprotein
92862740757.

High Density Lipoprotein
92862740758.

Acetylcholine
92862740759.

Amphetamine
92862740760.

Question Number : 10 Question Id : 92862710379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
T =~
FH T ATl T I Te T
92862740757.
Sy s P
Ig T ATA [AITIE
92862740758.
W =~
UTHETS A [
92862740759.
il:l:a:sa THT %H
92862740760.

Question Number : 11 Question Id : 92862710380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many principles are there in HACCP ?

Options :

<)
92862740761.

7
92862740762.

4

92862740763.



92862740764. 2

Question Number : 11 Question Id : 92862710380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U= U AT AT, (HACCP) ® e forgia 2 2

Options :

92862740761. 5
92862740762. 7
92862740763. 4
92862740764. 9

Question Number : 12 Question Id : 92862710381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inclined Scraped Surface Heat Exchanger (ISSHE) could be used for making

Options :

Chhana
92862740765.



Khoa

92862740766.
Shrikhand
92862740767.
Desi Butter
92862740768.

Question Number : 12 Question Id : 92862710381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SFATES The dg ST [T (1 Taa=ee) (ISSHE) &
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Options :

AT

92862740765.

ST

92862740766.

frave

92862740767.

=T A=
92862740768.



Question Number : 13 Question Id : 92862710382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Slightly sour milk is preferred for making which of the following milk product ?

Options :

02862740760, v@somalal
92862740770, Chhena murki
92862740771, realakand
92862740772, | Antooa

Question Number : 13 Question Id : 92862710382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT | A IT-07 T4 IcATE a1 o6 o0 72T F2T 34 T9a o
JTarT 8 ?

Options :

92862740769.

AT AT

92862740770.



92862740771.

arg=t

92862740772.

Question Number : 14 Question Id : 92862710383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The metal used for galvanizing ferrous metal is

Options :

92862740773, Fuminium
92862740774, TICKel
92862740775, =hromium
92862740776, £INC

Question Number : 14 Question Id : 92862710383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATg 4T T TSI (FTeadTE o) & 70 ToI<h 4Tq =

Options :



92862740773.

92862740774.

92862740775.

EED

92862740776.

Question Number : 15 Question Id : 92862710384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one among the following is basically a mixing and homogenization process ?

Options :

92862740777, Radurization
92862740778, Microfluidization
92862740779 Microfiltration

00862740780, Neverse Osmosis



Question Number : 15 Question Id : 92862710384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mo feed § I Fl-H1 T &9 F Teh 07 ST TR0 T 8 2

Options :

ST ST
92862740777.

| T TATE a0

92862740778

T Hegae

92862740779

giaardT TeTETT (S.ET)

92862740780

Question Number : 16 Question Id : 92862710385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Whey proteins contain approximately how much of the total Nitrogen present in milk ?
Options :
76%
92862740781.

18%
92862740782.



24%
92862740783.

80%
92862740784.

Question Number : 16 Question Id : 92862710385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

58 TEE | 39 U UI9E 5 ATS 2o &l ATAT aRTAT foha=t gl g ?

Options :

6%
92862740781.

18%
92862740782.

24%
92862740783.

80%
92862740784.

Question Number : 17 Question Id : 92862710386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The equivalent time, in minutes, at 250°F, of all heat considered, with respect to its capacity
to destroy vegetative cells or spores of a particular organism is called

Options :

92862740785, | Value
92862740786, < Value
92862740787, D Value
92862740788, | ValUE

Question Number : 17 Question Id : 92862710386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

250°F 9T ToelT Ta Taere St i T FITLaRTAl STOar & (STl il
T2 F (AT § 70T A

Options :

UF. AT
92862740785.

S, "1
92862740786.

1. O
092862740787.



7. |7+
92862740788.

Question Number : 18 Question Id : 92862710387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The common medium used to enumerate coliforms in milk is

Options :

Nutrient agar
92862740789.

VRB agar
92862740790.

M17 agar
92862740791.

Potato dextrose agar
92862740792.

Question Number : 18 Question Id : 92862710387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :




- TRTT

92862740789

1.3 T, T
92862740790.

UH. 17 T
92862740791.

T T
TTEAT SIS TRITE

92862740792

Question Number : 19 Question Id : 92862710388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fat recovery in creamery-butter method of ghee production is

Options :

80 - 83%
92862740793.

88 - 92%
92862740794.

98 - 99%
92862740795.

95 -97%

92862740796.



Question Number : 19 Question Id : 92862710388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=T IeaTa it FrAL-aeT T # a9 i i GhaAr g g ?

Options :

80 — 85%
92862740793.

88 — 92%
92862740794.

98 — 99%
92862740795.

95 -97%
92862740796.

Question Number : 20 Question Id : 92862710389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Butter oil is prepared by dehydrating melted milk fat at

Options :
- L]
92862740797. 79-81°C

92862740798. 48 -50°C



92862740799. 55 -62°C

92862740800. 40 -42°C

Question Number : 20 Question Id : 92862710389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

qZL AT TATH o0 [T (5ol g T AAT &l T araq1T IL
(STt Iehd Tt SITar 3 2

Options :

79 -81°C
92862740797.

48 — 50°C
92862740798.

95 — 62°C
92862740799.

40 - 42°C
92862740800.

Question Number : 21 Question Id : 92862710390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What test is employed to detect VVanaspati adulteration in ghee ?

Options :

92862740801, iehner test

92862740802, -eech test
Diphenylamine test

92862740803

02862740804, DAUDOUIN test

Question Number : 21 Question Id : 92862710390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=T T TS THATEE T 94T @R o 70 hiT=-A7 T Rt S7aT g
.I?

Options :
92862740801.

AT T
92862740802.

STETRATEAUH A TETET0T

92862740803.



= (Baudouin) T<Terr

92862740804.

Question Number : 22 Question Id : 92862710391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The S| unit of viscosity is

Options :

92862740805, 1OKSS
Centipoise

92862740806.

92862740807, T ascal-Second

92862740808, Newton/Second

Question Number : 22 Question Id : 92862710391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

QATHAT & TH.3ATE. TH1S FAT @ ?

Options :

T

92862740805.



92862740806.

qTEe] JHUE
92862740807.

IS

92862740808.

Question Number : 23 Question Id : 92862710392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Clarification temperature of Ghee is

Options :
92862740800, 20~ 100°C
92862740810, 110 = 120°C
92862740811, 120~ 140°C
92862740812, o0 ~90°C

Question Number : 23 Question Id : 92862710392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



=T T M0 T aTIaTT 9% gram 8 2

Options :

90 — 100°C
92862740809.

110 - 120°C
92862740810.

130 — 140°C
92862740811.

80 — 90°C
92862740812.

Question Number : 24 Question Id : 92862710393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Slow crystallization leads to which size of crystals ?

Options :

92862740813. Small
Large

92862740814.

No formation of crystals
92862740815,



Very tiny
92862740816,

Question Number : 24 Question Id : 92862710393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A THT Toheaet s a0 TTohaT § T3 SITaRT o Tofveet a9 2 2

Options :

92862740813.

=

-

92862740814.

92862740815.

agd |l

92862740816.

Question Number : 25 Question Id : 92862710394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At low temperature, rate of respiration of harvested fruits
Options :

92862740817. Increases



92862740818. Decreases

92862740810, xemains the same

Stops
92862740820,

Question Number : 25 Question Id : 92862710394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FH ATTHTT L Fid U Fel| sl AT Al S€ hell gl g ?

Options :

92862740817.

92862740818.

92862740819.

92862740820.

Question Number : 26 Question Id : 92862710395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Lactose content of human milk is approximately

Options :

4.3%
92862740821.

7.0%
92862740822.

8.5%
92862740823.

3.2%
92862740824.

Question Number : 26 Question Id : 92862710395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HATEE A H a2 ol ATAT AT Toha =l 2l g ?

Options :

4.5%
92862740821.

7.0%
92862740822.

8.5%

92862740823.



3.2%

92862740824.

Question Number : 27 Question Id : 92862710396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Whey protein nitrogen index of high heat skimmed milk powder is

Options :

= 0.5
92862740825.

= 1.5
92862740826.

<= 1.0
92862740827.

< 20
92862740828.

Question Number : 27 Question Id : 92862710396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o o = N et =
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Options :



< 0.5
92862740825.

< 1.5
92862740826.

<= 1.0
92862740827

< 2.0
92862740828.

Question Number : 28 Question Id : 92862710397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Milk is not a significant source of which of the following micronutrient ?
Options :

02862740820, >0GIUM

92862740830. Potassium

Vitamin B>
92862740831.

92862740832. Ascorbic acid



Question Number : 28 Question Id : 92862710397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

za ol o a B g oo a3 1 gg=aaer Ja 981 8 2

Options :

qreaH

92862740829.

e ferTH

92862740830.

P

92862740831

ot b T
UEh e UTHE
92862740832.

Question Number : 29 Question Id : 92862710398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bitter taste is mainly associated with

Options :
92862740833. Alkaloids

Cyclamates
92862740834.



H' ions
92862740835.

Aspartame
92862740836.

Question Number : 29 Question Id : 92862710398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FEAT TATE HET &9 H Tohden oy grar g ?
Options :

ATeTT (Alkaloids)
92862740833.

92862740834.

92862740835.

92862740836.

Question Number : 30 Question Id : 92862710399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The umami taste is associated with food that contains

Options :

Monosodium glutamate
92862740837.

Brominated vegetable ol
92862740838.

02862740830, 1Tisedium citrate

92862740840. 1annins

Question Number : 30 Question Id : 92862710399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT T SATHT TATE AT | Heent asig 4 grar s ?

Options :
AT TETHE
92862740837.
B 9 i, e . v O
AlIIHAZS 4 |d d«
92862740838.

-
M e

92862740839.



EAC

92862740840.

Question Number : 31 Question Id : 92862710400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the correct regeneration efficiency if cold milk enters the system at 3°C. The milk is
finally pasteurized to 72°C and the regeneration temperature was 65°C.

Options :

75.92%
92862740841.

89.52%
92862740842.

80.30%
92862740843.

81.12%
92862740844.

Question Number : 31 Question Id : 92862710400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TET [AEcITEs F&0aT &l F4 Fi<, T3 327 54 5° Afewad o7 Fre=q §
WAL AT & | TF A Sad: 72° ATedad 9 IH: T ad (oAl STrar
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Options :

75.92%
92862740841,

89.52%
92862740842

80.30%
92862740843,

81.12%
92862740844,

Question Number : 32 Question Id : 92862710401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Maltose consists of

Options :

92862740845, One residue each of Glucose and Galactose
92862740846, One residue each of Glucose and Mannose
92862740847, One residue each of Galactose and Sucrose

92862740848, Two residues of Glucose



Question Number : 32 Question Id : 92862710401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T2 % H2a& & 2

Options :

TS AT TAFEIST o Teh-TUa AT
92862740845.

TS AT HATS & UF-TF ATLAT
92862740846.

T ST ST TFIS o Th-Udh AL
92862740847.

TS o AT AALT
92862740848.

Question Number : 33 Question Id : 92862710402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The National Dairy Development Board (NDDB) is located at

Options :
92862740849. New Delhi

92862740850, F\nand



92862740851, Fhmedabad

92862740852. Kamal

Question Number : 33 Question Id : 92862710402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T a1 o are (NDDB) o wame o o g ?

Options :

H é I éff{ﬁ I
92862740849.
92862740850.

AgHSTHTR
92862740851.
92862740852.

Question Number : 34 Question Id : 92862710403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is an index of browning reaction in milk and milk products ?

Options :



Peroxide Value

92862740853

ons62740854. | olenske Value
02862740855, TNeohol Index
92862740856, IMF Value

Question Number : 34 Question Id : 92862710403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTerad § 9 HI-AT T2 ST T ITATET H FTS T T T T
SRR

Options :
Sl

el lgs HIiA
92862740853.

. W Wl &

fedteh H
92862740854.
e, AL .

Ueehlg el TAHh

92862740855.

92862740856.



Question Number : 35 Question Id : 92862710404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sterilization efficiency is determined using which of the following tests ?

Options :

92862740857. IMIE tast

92862740858. Aleshol lest

Turbidity test
92862740859,

Phosphatase test
92862740860.

Question Number : 35 Question Id : 92862710404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aerfertaa & T o 98T &7 IUART e s reneor =2aT e
T AT 8 ?

Options :

AT, TH.AT TS HT. T

92862740857.



Teeh g (ol T 1eT0T

02862740858.
=== areqor
92862740859.
"l
Parssorre e Ear Ul
092862740860.

Question Number : 36 Question Id : 92862710405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Improper homogenization of ice-cream mix can lead to defect in ice-cream.
Options :
Foamy meltdown
92862740861.
Curdy meltdown
92862740862.
Sandy texture
92862740863.
Crumbly body
92862740864.

Question Number : 36 Question Id : 92862710405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



STSHIH THART o 7T TR0 9 ATeTGhT® § ST-AT 319 21 T4l
g7

Options :
-

O ST g1
92862740861.

e TTHETE (T3ETT) g
92862740862.

[ .

e e I <h a2
92862740863.
92862740864.

Question Number : 37 Question Id : 92862710406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Loss or change in sensitivity of a given stimulus as a result of continuous exposure to that
stimulus is known as

Options :

92862740865. Gustation

Adoption
92862740866.



Perception
92862740867,

Adaptation
92862740868.

Question Number : 37 Question Id : 92862710406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2o 3o o A 9 & ahomHeEET 39 S5 ol

A eerdar § g1 a7 9ad &l 7 Figd 2 ?
Options :

=TE
92862740865.

ATeRrg
e

92862740866.

92862740867.

Agge

92862740868.

Question Number : 38 Question Id : 92862710407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following factor interferes with Iron bioavailability ?

Options :

02862740860, | umarates

92862740870, ItrIC acid
Phytates

92862740871.

02862740872, luconates

Question Number : 38 Question Id : 92862710407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9 O T FA-AT FTH g AF-IT6ddT W geaeqd FedT g ?

Options :

‘\\'
FIHTI A
92862740869.

ortem vt

92862740870.

E"i;

92862740871.



2
EIEEEs
'ﬁ
92862740872.

Question Number : 39 Question Id : 92862710408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ratio of partial pressure of water vapour in the air to the vapour pressure of saturated
air at the same temperature, expressed as percentage, is known as

Options :

Total Humidity
92862740873.

Relative Humidity
92862740874

Absolute Humidity
92862740875.

Specific Humidity
92862740876.

Question Number : 39 Question Id : 92862710408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teh B1 ATTHIA 9 ZAT H STl ATST o AT &3 T T8 g4l o AT50

FATE T ST ST TTAerd o &9 § =0<h AT S1dT 8, Fgd 8

Options :



A SATRAT

92862740873.

qTIE AT

92862740874.

AT srsar

92862740875

fatere smaar

92862740876

Question Number : 40 Question Id : 92862710409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The storage temperature of icecream ranges from

Options :

92862740877, 20 10— 4°C

ors62740878. 2o 10— 18°C

92862740879, — 2 0= 1°C
-10to-8°C

92862740880.



Question Number : 40 Question Id : 92862710409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[ ¥ . i —
ATSHHTH Sl HSTIUT THHTA [ohd AT gT1T 'ﬂlllal{?

Options :

— 55 T —45°C
92862740877.

— 23T -18°C
92862740878.

B T 180
92862740879.

— 10 94— 8°C
92862740880.

Question Number : 41 Question Id : 92862710410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An instrument fitted in refrigerant line which measures the flow of refrigerant is known as

Options :

9286274088]1. Tachometer

02862740882, Trotameter



92862740883. Fedometar

02862740884, SUnnimeter

Question Number : 41 Question Id : 92862710410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ol TS § 9T U STFHLOT ST Tefieeh o UaTg &l qroar g, &

ATH I SATAT S7a7 8 2

Options :

g
92862740881.

s
92862740882.
e

=] -
92862740883.
92862740884.

Question Number : 42 Question Id : 92862710411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Fat content of buffalo milk paneer is

Options :

10-12%
92862740885.

17 -19%
92862740886.

26 - 27%
92862740887.

30 -32%
92862740888.

Question Number : 42 Question Id : 92862710411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT o T T a9 T H FAT a0l AAT Tohaw T gl g ?

Options :

10-12%
92862740885.

17-19%
92862740886.

26 —27%

92862740887.



30 - 32%

92862740888.

Question Number : 43 Question Id : 92862710412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The area identified for milk procurement by a dairy plant for raw milk procurement is known
as

Options :

92862740880, NIk Shed Area
92862740890 Milk Catchment Area
92862740891 Milk Control Area
02862740892, Milk Shadow Area

Question Number : 43 Question Id : 92862710412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AL TATE ETT TSI &1 © g T4 0 JTTH #hl STl §, 39 &3 &l Hgd

Options :




T AT &

92862740889.

T4 TZ &

92862740890.

CCREDE LR E

92862740891

TH AT &

92862740892.

Question Number : 44 Question Id : 92862710413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The approximate percentage of total solids present in milk retained in cheese whey is

Options :

25%
92862740893.

50%
92862740894.

30%

92862740895.



90%
92862740896.

Question Number : 44 Question Id : 92862710413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ISl 58 H T o A 316 TETAT Al FALATAT T 9T g

Options :

25%
92862740893.

90%
92862740894.

30%
92862740895.

90%
92862740896.

Question Number : 45 Question Id : 92862710414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Electrodialysis process is used to

Options :

Fractionate B-lactoglobulin proteins from whey
92862740897.



Remove proteins from whey

92862740898.

Remove minerals from whey
92862740899.

Remove casein from whey
92862740900.

Question Number : 45 Question Id : 92862710414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T[T TTohaT &l STTNT e Tl TohaT SITaT g 2

Options :
58 H Sl eT-AFE AT [T TSI ol AT HL]
92862740897.
2 T TIETT STl Tl
92862740898. %
55 H Gl &l ST e ]
92862740899.

IS ol 58 T T el

92862740900



Question Number : 46 Question Id : 92862710415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How much citric acid is used to coagulate 100 liters of milk for paneer production ?

Options :

45-50g
92862740901.

20-25g
92862740902.

10-15g
92862740903.

55-65g
92862740904.

Question Number : 46 Question Id : 92862710415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

THIE % ICATEA o 11T 100 fT2T T4 Thad Fied o (o0 fohd=T arsiem
i\”a\% QF!I:H'(;' ﬁTﬂT E”ﬁ“ % ‘7

Options :

45-5.09mH

92862740901.

20-257TH

92862740902.



1.0-1.5T™H

92862740903.

2.50-6.5TH

92862740904.

Question Number : 47 Question Id : 92862710416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Differential cooling’ is applied in the production of which of the following milk product ?

Options :

02862740005, Drie cheese
Yoghurt

92862740906.

92862740007, Vilkcake

02862740008, | antooa

Question Number : 47 Question Id : 92862710416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tar=T ofiaqer 9% 39 Soa1s | o Toteh SoaTa+ | o1 Sirar g ?

Options :




92862740905.

92862740906.

92862740907.

92862740908.

Question Number : 48 Question Id : 92862710417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In MAP of fresh fruits, the combination of gases used are

Options :

Nitrogen and Oxygen
92862740909.

Nitrogen and Carbon dioxide
92862740910.

Nitrogen and Hydrogen
92862740911.

Nitrogen, Oxygen and Carbon dioxide
92862740912,



Question Number : 48 Question Id : 92862710417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

qTST el | o UW. UG, |/, T2 00l T 2|

Options :
92862740909. &
ATSZ IS 37 FTa T STEAFTES
92862740910.
ATSZISI 87 ZTeg 9
92862740911.
ATSZ TS, AT AT T STSAFATES
92862740912.

Question Number : 49 Question Id : 92862710418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the process of inversion, sucrose in converted to

Options :

92862740013, >lucose and Fructose

0862740014 OlUcOse and Galactose



92862740015, [ ructose and Mannose

02862740016, >alactose and Maltose

Question Number : 49 Question Id : 92862710418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTATH =l TehaT |, TehlST (e d Tatdd grar g ?

Options :
92862740913.
92862740914.

YRSt 3 TelisT
92862740915.

TSt 3T HToa
92862740916.

Question Number : 50 Question Id : 92862710419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The growth of most bacteria in a food are inhibited below the water activity of



Options :

92862740917. i
92862740918. 2.0
92862740919. Do
92862740920. Lo

Question Number : 50 Question Id : 92862710419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT H STerehier Samupet 1 gie e wareiradr % A=
aTterT gt 2 |

Options :

0.80
92862740917.

0.75
92862740918.

0.55

92862740919.



0.90

92862740920.

Question Number : 51 Question Id : 92862710420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The standard error is a statistical measure of

Options :

The degree to which a sample has been accurately stratified
92862740921.

The normal distribution of scores is likely to differ from the population
92862740922.

The clustering of scores at each end of a survey
92862740923.

The extent to which a sample mean is likely to differ from the population mean
92862740924.

Question Number : 51 Question Id : 92862710420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

qTHE AT Fheent T qeTniT ATT g ?

Options :

TTasel T Tal deieh o Ao e il (ST

92862740921.



THTS T THS 5 Th1C o TATHTT S o (99 g ol T 2

92862740922.

T TALT 3 Tedh A § ST ¥ T=)

92862740923.

gTaEel ATST T OHTE [TeT ¥ o w7 a% M9 g9 il 997347 8

92862740924.

Question Number : 52 Question Id : 92862710421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mean, Median and Mode are

Options :
92862740905, Measures of deviation

Ways of sampling
92862740926.

Measures of central tendency
92862740927.

Measures of control tendency
92862740928.

Question Number : 52 Question Id : 92862710421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



qTLT, AT ST Tgeteh T aqeaTd g 7

Options :

EEEGEIR:1E]
92862740925.

gtasel o & qile

92862740926

Tl AT T 1T
92862740927.

IEREVREISEIR:IE]

92862740928.

Question Number : 53 Question Id : 92862710422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first step in starting the research process is
Options :
Searching sources of information to locate the problem
92862740929.

Survey of related literature
92862740930.



|dentification of the problem
92862740931,

Searching for solutions to the problem
92862740932.

Question Number : 53 Question Id : 92862710422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

QTTET TG ST% il T TgeAT FL0T 7 § ?

Options :

N [ e = =,
HHSU ] onl Hal o4l a? ISR R bl %ﬁbllt‘l oAl
92862740929.

TS TEIT AT T T FHLAT

92862740930

THET il T FHeA]
92862740931.

THEAT o THTLTAT 2hl et T
92862740932.

Question Number : 54 Question Id : 92862710423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In research process, ‘Formulation of Hypothesis’ is followed by




Options :

Statement of Objectives

92862740933.
Analysis of Data
92862740934.
92862740935. Selection of Research Tools
92862740936, Collection of Data

Question Number : 54 Question Id : 92862710423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ToReIT oTTer TTohaT W "I TeahedAT [M&ET 3 a7 ST 207 Fl-a7 gl
2 ?

Options :
B The —
SR AT ol T4 LT
92862740933.
AT T Tergeor
92862740934.

ATELTT ATLAT A 7T

92862740935.



2T T 98

92862740936.

Question Number : 55 Question Id : 92862710424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

RSM stands for

Options :

Response Surface Methodology
92862740937.

Response Standard Methodology
92862740938.

Reference Standard Methodology
92862740939.

Reference Surface Methodology
92862740940.

Question Number : 55 Question Id : 92862710424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AL, UA.7H. (RSM) T &1 2 |

Options :

g ToRaT g FHTAT0TAT

92862740937.



P IGIERIR IGERE IR P R

92862740938.

. —
T 979 921
92862740939,

=T Tdg FHTAT0TTAT

92862740940.

Question Number : 56 Question Id : 92862710425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A simple random sample is one in which

Options :

From a random starting point, every n" unit from the sampling frame is selected
92862740941.

A non-probability strategy is used, making the results difficult to generalize
92862740942.

the researcher has a certain quota of respondents to fill for various social groups
92862740943.

Every unit of the population has an equal chance of being selected
92862740944,

Question Number : 56 Question Id : 92862710425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e AT A5 w8 TAael a8 § ToraH |

Options :
TS e e &g &, THAT 6H ¥ GO N TS AT A T
ST 8
92862740941.
e -HAT=0dT q1<h 1 SO (T SITaT &, TSTeed aiomaT &
ST ST HLHeT g1 Sal &
92862740942.
STTEreRd T o ITH T TS TTTieTn Ul & (o SOLaTare &r U
s wrer g
92862740943.
STATEEAT T Tk TS T FAT ZI ol THTT T7aT 2
92862740944.

Question Number : 57 Question Id : 92862710426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is nota non-probability sampling ?
Options :

Snowball sampling
92862740945,



Stratified random sampling

92862740946.

Quota sampling
92862740947.

Convenience sampling
92862740948.

Question Number : 57 Question Id : 92862710426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rrerforfam # 3 e fedarsrar ahiedt 782 2

Options :
37 u [
Pl Ald=A U
92862740945.
™ [ .
AL ATS = TTa=d4
92862740946.
o £
2] AlTd=4d
92862740947.

92862740948.



Question Number : 58 Question Id : 92862710427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bibliography given in a research report

Options :
helps those interested in further research and studying the problem from another angle
92862740949.
Shows the vast knowledge of the researcher
92862740950.
Makes the report authentic
92862740951.
92862740952, Justifies the research work

Question Number : 58 Question Id : 92862710427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ofter fie # o v ot |

Options :

WY o AT | 5 @ aTell ST THY g 2anl01 § THEAT dl ALTTH
FA W HEE AT 2

92862740949.

STTETShelT oh ToreTTel ST ahl TLITaT @

92862740950.



9TE =T ITATOE ST

92862740951.

g fa)
OTTel T =l Tal SELTT
92862740952. a a %

Question Number : 59 Question Id : 92862710428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which technique is generally followed when the population is finite ?

Options :

Purposive sampling
92862740953.

Area sampling technique
92862740954

Systematic sampling
92862740955.

Quota sampling
92862740956.

Question Number : 59 Question Id : 92862710428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



STHEEAT 3 T g T ATHATE T2 T3 Tohe 19 T Aaeor T
STaT 8 ?

Options :

29T gia=a=

92862740953.

T L [

R IREP I ETIET
92862740954.

[ -

FHdg TTd=aa4
92862740955.
92862740956. i}

Question Number : 60 Question Id : 92862710429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which statement is false about good hypothesis ?
Options :
Should have global significance
92862740957.

Of limited scope
92862740958.



Precise, specific and consistent with most known facts
92862740959,

Formulated in such a way that it can be tested by the data
92862740960.

Question Number : 60 Question Id : 92862710429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

H=ST TTLFTAT o a1 H FHIA-07 FAT JAT2 ?

Options :

— o

AT A=A

1
=

S

92862740957.

T =TIy =7

92862740958

T, AT o STa ToFT o AT ATerh qod

92862740959.

S q¥g I 94T 3 g 5 g =T gy uereror T ST aear g

92862740960.

Question Number : 61 Question Id : 92862710430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Reliability is the fundamental quality of a research which also reflects



Options :

Superiority
92862740961.

Purity of data
92862740962.

Verifiability
92862740963.

Validity
92862740964.

Question Number : 61 Question Id : 92862710430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

N

o= aT U <178l &7 Jorad 07 g ST Th SIRIEIE LR
=

Options :

R
92862740961.

ST Al AT
92862740962.

He T4
92862740963



T
92862740964.

Question Number : 62 Question Id : 92862710431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Research design strategy encompasses all of the components below except

Options :

data collection design
92862740965.

sampling design
92862740966.

instrument development
92862740967.

data analysis
92862740968.

Question Number : 62 Question Id : 92862710431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT SoiTe Ih | He 7 T ZISHT TAT Tl &l
QTTTET Tt T 2 |

Options :




saT T RowTeA

92862740965.
i i Y

IGEPCRESIES

92862740966.
| Y

HTAA TdhTH
92862740967.

g1 fagmoT
92862740968.

Question Number : 63 Question Id : 92862710432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The practice of using someone’s work/idea/paper as one’s without proper
acknowledgement is termed as

Options :
92862740969, Ctation
Plagiarism
92862740970.
Referencing
92862740971.

Copyrighting
92862740972,



Question Number : 63 Question Id : 92862710432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TohErT o T2/ Tr =TT/ TARTeTT &l Tohell T 3= d Ta i o (6T ST
FE 0 AT &l FETH JETATAT 2 |

Options :

92862740969.

92862740970.

92862740971.

92862740972.

Question Number : 64 Question Id : 92862710433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is nota “Graphic representation” ?

Options :

92862740973. Pie-Chart



Table

92862740974
02862740075, Dar-Chart

Histogram
92862740976.

Question Number : 64 Question Id : 92862710433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

RrerfrfR & & w7 i aheT 78t 2

Options :

LA

92862740973

Tl

92862740974.

TT-ATE

92862740975.

[EpIE]

92862740976.

Question Number : 65 Question Id : 92862710434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



One of the following search engines is exclusively meant for search and retrieval of
peer-reviewed biomedical and life sciences literature is

Options :

92862740077, ' 2N9O
Google

92862740978.

92862740979. Fiomed
Bing

92862740980.

Question Number : 65 Question Id : 92862710434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

erferfed ® 5 v °= go= § 9 Ua @y =7 7 fae-Reg
ATATHIS A ST ATET TTSHS AT ged 2l @I ST TAATH & [0 g :

Options :

Rl

92862740977.

UK

92862740978.



CEE:

92862740979.

faT

92862740980.

Question Number : 66 Question Id : 92862710435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Questionnaire is used in research as a

Options :

02862740081 xesearch method
Measurement technique

92862740982.

92862740983 Tool for data collection
Data analysis technique

92862740984,

Question Number : 66 Question Id : 92862710435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTEr | TATAT T STTRT & ®T H 3T Jrar 2 |

Options :




ST At

92862740981.

HTIT TR

92862740982.

2T TUE & forw arg=

92862740983

=27 g AT

92862740984

Question Number : 67 Question Id : 92862710436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first step in formulating a research problem is

Options :

Statement of the problem
92862740985.

Gathering of Data
92862740986.
92862740987. Maasuremant

Survey

92862740988.



Question Number : 67 Question Id : 92862710436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U 9179 THAT T H&E90 e H 98T 9407 @ |

Options :

AT &7 Eao
02862740985.

ST TIE

92862740986.

HTOAF
92862740987.

T

92862740988.

Question Number : 68 Question Id : 92862710437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Hypothesis which develops while planning the research is
Options :

Null Hypothesis
92862740989.

Working Hypothesis
92862740990.



Relational Hypothesis
92862740991,

Descriptive Hypothesis
92862740992.

Question Number : 68 Question Id : 92862710437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teh T ST &jﬁiﬂﬁaﬁ'iﬁkﬂdl F9TT THY ﬁﬁﬁ'glﬂ i %, %

Options :

[
AR aieer

92862740989

FTIeTT TR =HeaT

92862740990

T TThed =l
92862740991

AUTCH T
92862740992.

Question Number : 69 Question Id : 92862710438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Research Report is a formal statement of




Options :

Research Process

92862740993.

02862740004, RESEArCh Problem

92862740995, Data collection
Data Editing

92862740996.

Question Number : 69 Question Id : 92862710438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WQﬁgﬁ:ﬁ W@W% %l

Options :

oTTer TishaT
92862740993.

STTET FHTT
92862740994
92862740995, i

slel d4lxA
92862740996.



Question Number : 70 Question Id : 92862710439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Blueprint of Research work is called

Options :

Research problem
92862740997.

Research design
92862740998
92862740009, Tvesearch tools
92862741000, TvES€arch methods

Question Number : 70 Question Id : 92862710439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9TTeT T T S T9 2 AT T SATaT 2 |
Options :
9TTer THEAT
92862740997
TTer TTHAT

92862740998.



9TTel TTeT
92862740999.

AT 6 dLIh
92862741000.

Question Number : 71 Question Id : 92862710440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Probability sampling is also knowns as

Options :

Multiple Sampling
92862741001.

Univariate Analysis
92862741002.

Random Sampling
92862741003.

Bivariate Analysis
92862741004

Question Number : 71 Question Id : 92862710440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TAT=TAT TTd=a &l & &= H T AT ATAT 2

Options :




TgA TT=aT

92862741001

U-FT fAger

92862741002.

s .
IR LI IR RE
92862741003.

fe-=7 Ay

92862741004

Question Number : 72 Question Id : 92862710441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assigning numerals or other symbols to categories or response is called

Options :

Editing
92862741005.

Coding
92862741006.

Transcription
92862741007.

92862741008. Tabulation



Question Number : 72 Question Id : 92862710441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

StoraT T TiAoRaT o 7T SisRT I 1= Totent ol THeT e e
T SET 74T 2 |

Options :
BRI
92862741005.
Fz1@+ (Coding)
92862741006.
92862741007.
92862741008.

Question Number : 73 Question Id : 92862710442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

research involves manipulation of one or more variables to determine the
effect on another variable.
Options :

Ex post facto
92862741009.



Exploratory

92862741010.

Experimental
92862741011.
92862741012. Staysiical

Question Number : 73 Question Id : 92862710442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

QTTer | ek AT AT =T T LT TAL AL T THIT &
T Fiveh TohdT JTaT 2 |

Options :

FTATAL

92862741009.

AATOTTcH
92862741010.

92862741011.

92862741012.



Question Number : 74 Question Id : 92862710443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The measure of the extent to which responses vary from the mean is called

Options :

92862741013, Miode

92862741014 Normal distribution
92862741015, Standard deviation
92862741016, ¥aNIance

Question Number : 74 Question Id : 92862710443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATET T ITATHATAT & [S=ere =t ATAT &l Fgl ST 2 |

Options :

g

92862741013.

TOTHTT <A
92862741014.



HT o=

92862741015.

THLT
92862741016.

Question Number : 75 Question Id : 92862710444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Plagiarism can be avoided by

Options :

Copying the work of others accurately
92862741017.

Paraphrasing the author’s text in your own words
92862741018.

Cutting and pasting from the internet
92862741019.

Quoting directly without revealing the source
92862741020.

Question Number : 75 Question Id : 92862710444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

CATSI IS H | o =T ST 9ohaT & ?

Options :




THLT o TH &l &I & H Tl Fileh

92862741017

T o U7 1 AqT 97521 | =A<F Fih
92862741018.

TavHE H FIEh AT I
92862741019.

ST T AT [T 6T T 35207 3
92862741020.

Question Number : 76 Question Id : 92862710445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To test null hypothesis, is used.
Options :
92862741021. ANCIV
92862741022, © TSt
Regression
92862741023,

Factorial Analysis
92862741024,



Question Number : 76 Question Id : 92862710445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TRt TREeIAT FT T Fe & oI T TR
BRI

Options :

AT

92862741021.

&2

92862741022

HHTAAIT
92862741023,

FENTOTT 3™ (Factorial Analysis)

92862741024

Question Number : 77 Question Id : 92862710446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is an indication of the quality of a research journal ?
Options :

92862741025. h-index



Impact factor

92862741026.

g-index
92862741027.
92862741028. 45 Incie

Question Number : 77 Question Id : 92862710446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R | T -7 Teh T Te0T (S[eT) i [Orar &7 9ehd g ?

Options :

U= .-
92862741025.

AT T (STF FFa?)

92862741026.

ST -

92862741027.

i10 T=HTh

92862741028.



Question Number : 78 Question Id : 92862710447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify the correct sequence of research steps :

Options :

Selection of topic, Review of literature, Interpretation of findings, Data collection
92862741029.

Selection of topic, Data collection, Review of literature, Interpretation of findings
92862741030.

Review of literature, Selection of topic, Data collection, Interpretation of findings
92862741031.

Selection of topic, Review of literature, Data collection, Interpretation of findings
92862741032.

Question Number : 78 Question Id : 92862710447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STl FLOTT & Tal AT Hl TgFT0 :

Options :

T T =97, TTiEer it AH T, ROt 6 ST, T2T 9Ug

92862741029.

e =7 ===, 227 T, anteed it afte, et it =arear

92862741030.



AT it THTEAT, A F 5w, g2 qug, Aot i =me

92862741031.

AT T =37, ATacd i THET, 27 998, Fenut it =T

92862741032.

Question Number : 79 Question Id : 92862710448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The core elements of dissertation are

Options :
Research Plan; Research Data; Analysis; References
92862741033.
Executive Summary; Literature Review; Data gathered; Conclusions; Bibliography
92862741034.
Introduction; Literature Review; Research Methodology; Results; Discussion and
Conclusion
92862741035.
Introduction; Data Collection; Data Analysis; Conclusions and Recommendations
92862741036.

Question Number : 79 Question Id : 92862710448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9T T 6 HE&T <A g |




Options :

QTTET FTSIAT; AT 22T, FHgper; s

92862741033.

FTAARTLT TTLILT; AT sl THIEAT; T2T 0ug; Ho; o=

92862741034.

=T ATgc sl THTEAT, SLaT hATra e, Ty, E=e-egst
e Ao

92862741035

IR=T; 22T TUg; 27 Egmr; Ry s e

92862741036

Question Number : 80 Question Id : 92862710449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following can be described as a nominal variable ?
Options :

92862741037, A\nnual income

Age
92862741038.

Geographical location
92862741039,



02862741040, /\nnual sales

Question Number : 80 Question Id : 92862710449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aerferiad O o ToeTaht Ua TTeh(deh 97 o &9 H a07d ohaT ST TehdT @
.I?

Options :

CHVETEIE]
92862741037

3d
92862741038.

FRTITeTen Rt
92862741039.
92862741040,

Question Number : 81 Question Id : 92862710450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ethical norms in research do not involve guidelines for

Options :



Copyright

92862741041,
02862741042, 1 1NESIS format
Patenting policy
92862741043.
Data sharing policies
92862741044,

Question Number : 81 Question Id : 92862710450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9TTer o AT HTa=St # % Teom-fRer erttier 782 |

Options :
)
idlelge
92862741041.
of TR oT&T
92862741042.
92862741043.

92862741044.



Question Number : 82 Question Id : 92862710451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first page of the research report is

Options :

Appendix
92862741045,

Biblography
92862741046.
92862741047, MAeEX

Title Page
92862741048.

Question Number : 82 Question Id : 92862710451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gTrer FaTE =T Torm 79 g

Options :

Tiefere

92862741045.

AT

92862741046.



TATHH

92862741047.

oo 75

92862741048.

Question Number : 83 Question Id : 92862710452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a factorial experiment the minimum number of factors will be

Options :

92862741049, €
92862741050, VO
92862741051, ree
92862741052. None of these

Question Number : 83 Question Id : 92862710452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U Ag-SHTETHT YA H FTah] &l = T g |

Options :




92862741049.
92862741050.
92862741051.
= ﬁ = o
TAH O FlE Agl
92862741052.

Question Number : 84 Question Id : 92862710453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With factor A which has two levels and factor B which has three levels, the number of
combinations will be

Options :

S
92862741053.

6
92862741054.

2
92862741055.

92862741056.



Question Number : 84 Question Id : 92862710453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTeen A oW a7 w97 2 & e B foad ai9-di9 @7 8, 37 aF0 @l
qOSH EEIT g

Options :

92862741053. 5
92862741054. 6
92862741055. 2
92862741056. 3

Question Number : 85 Question Id : 92862710454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a Latin Square Design with 5 treatments, the number of experimental units will be equal
to

Options :

92862741057. =



20

92862741058.
92862741059. 2
92862741060. 36

Question Number : 85 Question Id : 92862710454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

5 ITHATLT o AT UF ATed Thrae [So1sT H, TARTTHS SHTSAT 0l

* N
T & FETEL T |
Options :
25
92862741057.
20
92862741058.
24
92862741059.
36
92862741060.

Question Number : 86 Question Id : 92862710455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Snowball sampling is the process of selecting samples using

Options :
92862741061. Network

Groups
92862741062.

Computer design
92862741063.
92862741064, Snowbal

Question Number : 86 Question Id : 92862710455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A A=A To0AT § THAT 0 =FI ZTT 2ET 2 |

Options :

92862741061.

92862741062.



92862741063.

I

92862741064.

Question Number : 87 Question Id : 92862710456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which measure is affected most by the presence of extreme values ?

Options :
Range
92862741065,
02862741066, >randard Deviation
Quartile
92862741067.
92862741068, Viean deviation

Question Number : 87 Question Id : 92862710456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TH HTA f SRS T hiA-A7 IUTT T AT Tariaa grar g ?

Options :




Es)

92862741065.

AT TEa=ae
92862741066.

LI

92862741067.

ATeT A==

92862741068.

Question Number : 88 Question Id : 92862710457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When in a group of propositions, one proposition is claimed to follow from the others, that
group of propositions is called

Options :

An argument
92862741069.

An invalid argrument
92862741070.

An explanation
92862741071.



A justification
92862741072,

Question Number : 88 Question Id : 92862710457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

s = =~ =~
Tohell SeaTd & THg H ST o719 L TEdTd T A0 Tl &l &4

S
FTAT @, S TEarar @ Fgl ST 2 |

Options :

U T

92862741069.

.
Ueh AHTT deh
92862741070.

TS BRI

92862741071.

U ST

92862741072.

Question Number : 89 Question Id : 92862710458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Probability can take values from

Options :



-xnto+®

92862741073.
92862741074, ~ =101
92862741075, OO+
02862741076, — 11O+

Question Number : 89 Question Id : 92862710458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ITT=dT T AT _@_rn_%l

Options :
92862741073.

e ﬁ- 1
92862741074.

0o+ 1
92862741075.

— 1T+ 1

92862741076



Question Number : 90 Question Id : 92862710459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In normal distribution, skewness is

Options :
92862741077. °O'C
92862741078, <°'°

greater than one
92862741079.
92862741080. lass:thanions

Question Number : 90 Question Id : 92862710459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TETHTT & |, a9 g g |

Options :
= f
92862741077.
ST
92862741078.

U H afgw

92862741079.



U o
92862741080.

Question Number : 91 Question Id : 92862710460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A positive correlation occurs when

Options :
92862741081 Two variables remain constant
92862741083, Two variables move in the same direction

One variable goes up and the other goes down
92862741083.

Two variables move in opposite directions
92862741084.

Question Number : 91 Question Id : 92862710460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ST HgHad ad gidl g o9 |

Options :

AT PIv Ea g

92862741081.



T AL U 9T § FAd &

92862741082.

TSR F¥ O AT g S TAT A AT
92862741083.

21 =7 AT Renent § o 2
92862741084.

Question Number : 92 Question Id : 92862710461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an experiment, the group that does not receive intervention is called

Options :

The experimental group
92862741085.

The participant group
92862741086.

The control group
92862741087.

The treatment group
92862741088.

Question Number : 92 Question Id : 92862710461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e TTT |, o T9g ° 6T 981 &dd & 39 Fgl ST 2 |
Options :

TARTTHE THE

92862741085.

BIGE IR

92862741086.

IEREUR:E b

92862741087.

92862741088.

Question Number : 93 Question Id : 92862710462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Area of critical region depends on
Options :
Size of type | error
92862741089.

Size of type Il error
92862741090.



92862741091 Value of the statistics

92862741092, Number of observations

Question Number : 93 Question Id : 92862710462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR & T TTH 7 9T FAT 2 |

Options :

22T | Ffe & AT

092862741089.

aTed || e o AT
92862741090.

VT

AFST = |
92862741091.

U7 shT T[T
92862741092.

Question Number : 94 Question Id : 92862710463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For valid conclusions we should have

Options :



Unbiased estimate

92862741093.

92862741094, Biased estimate

02862741005, xandom estimate
Compromised estimate

92862741096.

Question Number : 94 Question Id : 92862710463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT ARt & o 29T 9T TE T AR |

Options :

AT SATATA
92862741093.

ATHAT TTHT
92862741094.

| -

TS =g ATHT

92862741095.

THATAT ATATH

92862741096.



Question Number : 95 Question Id : 92862710464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

CRD can be used with

Options :

Equal replication
92862741097.

Unequal replication
92862741098.

Equal and unequal replication
92862741099.

Single replication
92862741100.

Question Number : 95 Question Id : 92862710464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

7.7, 27, (CRD) &7 39T % AT TR ST TaT 2 |

Options :

T AL
92862741097.



SEAT AT

92862741098.

THTH ST ATHATT THF
92862741099.

—

Thel AL

92862741100.

Question Number : 96 Question Id : 92862710465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When there are 5 treatments, each replicated 4 times, the total number of experimental
plots will be

Options :
5
92862741101.
92862741102. 4
9
92862741103.
92862741104. 20

Question Number : 96 Question Id : 92862710465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



& 5 ITATL g1 &, Al T &l 4 ATL FELIAT AT 8, TAlE i Fied

ST TAT gHMT |

Options :
92862741101. 5
92862741102. 4
92862741103. 9
92862741104. 20

Question Number : 97 Question Id : 92862710466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

RBD can be used with
Options :
Equal replication
92862741105.

Unequal replication
92862741106.



Equal and unequal replication
92862741107.

Single replication
92862741108.

Question Number : 97 Question Id : 92862710466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT, T TTRT % AT TohaIT ST TaT 2 |

Options :
—
THTT AT
92862741105.
-
AT A
92862741106.
AT ST ATHAT T
92862741107.
oY
T AL
92862741108.

Question Number : 98 Question Id : 92862710467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which research method is a bottom-up approach to research ?

Options :

00862741100, Deductive method
Explanatory method

92862741110,

92862741111, 'nductive method
Exploratory method

92862741112,

Question Number : 98 Question Id : 92862710467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

oTTeT o ToTT FI=-TT STTel 0T Teh aot Tevae (bottom-up) LT 2
?

Options :

| -

EUE IR ERCIE]
02862741109.

=TT Tater
02862741110.

ATHATHS f[ater
92862741111.



A= TaTer

92862741112.

Question Number : 99 Question Id : 92862710468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the research that seeks to examine the finding of a study by using
the same design but a different sample ?

Options :

Exploratory study
92862741113.

Replication study
92862741114.

Empirical study
92862741115.

Hypothesis study
92862741116.

Question Number : 99 Question Id : 92862710468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e § O Hi9-A7 97e & T T g1 RS &l o, diohe U
ST TG AT STANT &deh Teh FLAA hl @IS 3l S FHidal g ?

Options :



AT FETT

92862741113.

gtdepla srera=
92862741114.

SATAE LTI
92862741115.

s

FIEETREIRCERI P

92862741116.

Question Number : 100 Question Id : 92862710469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which correlation is the strongest ?

Options :
9282741117, ~ 1-00
92862741118, + 80
92862741119, ~ OO
+ 05

92862741120.



Question Number : 100 Question Id : 92862710469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FI-AT TEHae Ta A9ad g ?

Options :

—1.00
92862741117.

+ 80
92862741118.

— 60
92862741119.

+ 05

92862741120.



